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Probability " Example
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. Random  experiment It '

a roll a fair six sided die
- e wosa

• generates outcome :werair
° rolled a 5

d
• Sadespade : set  of all ~ . { 42,3 , 4,5 , 6) =l

possible outcomes
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,

=
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= { 2,4 , 6)
• event : subset of sample SPACE

. En =
"

zz
"

= { 3,4 , 5,6 )
• p : R → IR probability measure

-
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Examines 12,3 )
° no " Fred:3 ,%% ,

a¥§T#¥#÷#
�2� Roll to fair dice

##⇒ R = { 1 1,1 )
,

( 1,2 )
,

( 1,3 ) -

,
12,1 ) ,(2,2) - ,

416 ) ) = { 1,2 , -
6) X { 1,2 ,

-6 )

lrk 36

E
, = total B 7

EF { ( 1,6 )
,

(2) 5 )
,

C 3,4 )
,

( 4,3 )
,

15,2)
,

( 6,1 ) )

PIE , ) =
IE ,

I 6
- = -36=1
Irl 12 11 10 9

to

Ea= total is greater than 8 |Ez|=

1+2+3+4

= 9 or 10 or 11 or 12 = 10
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Candy : Standard deck  of  cards : 4 suits Hearts
,

Diamond
, clubs

,
Spades

within each suit 2,3 ,
Y

,
. -

,
co

,
J

,
Q

,
K

,
A

13 total per suit
. Rand

, Exp .

: draw one card frm deck

a Sample space : R= { 2H
,

3H
,  -

,
AH

, 213317 , - ,
AS )

gz
face

and
persuitn

Irl = 52 ysuib
a

'

Ec = face card ( Jacks
,

Queen
,

King ) IEIF 3.4 = 12

PCE ,
) =

LEI 12

Irl
= -52 = 343

. EL = card is between 2 & ( o ( a number )

IEsl = 9.4=36

pied = tent,=3s6z= %



Urn Problems
-

: 15 red balls
10 blue balls

' Rand , Exp . : draw one ball from urn

' s = { Rl
,

R2
,

. - Rit
,

Bl
,

B2
,  . .

Bw ) lrl=25

. E
,

= red IE
, 1=15

PLE )= fend
,

= ¥ = 315

.Rand
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: draw 3 balls at once ( Saudis who replaced )

r= { { R
, ,

Ra ,R ,
3

,
{ R

, ,Rs
,

Ry }
,

-

{ R
, ,B,B ,

} - { Bs ,B9
,

13101 )
Irl = ( 235 ) = 2300

. E
,
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,
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' Ea = 2 red
,

1 blue

M%k
" ' 49

led = ( 12 ) . 1 Y ) = 1050 # =Y÷oo~~ 45.7%
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ways to ways to

9et2 needs get one blue


